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0/ | |
i Time Allowed: 70 minutes

Instructions: | a) Write all your answers on your own paper.

b) Show all necessary working.

¢) Marks may be deducted for careless or badly arranged work.

d) No liquid paper is to be used. If a correction is to be made, one line is to be
ruled through the incorrect answer.

Marks

1. Find the exact value of;

a) tan 330" 1

b) sec120° 1
2. If tand =§ and @ is a reflex angle, find the exact value of cos& 2
3. Asship leaves port and sails on a bearing of 120° T for 50 km.

a) Draw a sketch to show this information. 1

b) How far east of the port is it at this time, correct to the nearest km? 2
4, Sketch y=tanx for 0° < x <360° 2
5. Find the largest angle in this triangle, correct to the nearest minute. 3

10 cm 8cm
15¢cm
6. Prove that the points A(12), B(—1,6) and C(2,0) are collinear. 3
7. 1f (2,3) is the midpoint of the two points A(x, y) and B(4,4), find the 3
coordinates of A.

8. Aline is represented by the equation x+2y—6=0. Find the equation of the 3

line that is perpendicular to this line and passes through the point (J, 3).




Marks
9. Find the value of each pronumeral, (no reasons required);

a)
2
S
b)
1
c)
P
2
50° 9
a°
40
L M N
10. Solve for 0° <0 <360
a) 4cos’6=3 3
b) 2sind—4cos@=0 3
C) tan 20=i 3

N




Marks

11.
Y a
Q(1,6)
X
In the diagram, P and Q have coordinates (-1,0) and (1,6) and
ZQPR=/QRP =6
a) Find the length of PQ as a surd. 2
b) Show that tand=3 2
c) Show that the gradient of QR is —3. Give reasons. 2
d) Show that the equation of QR is 3x+y—-9=0. 2
e) Find the coordinates of R. 1
f) Find the perpendicular distance from P to QR. 2
g) Hence calculate the area of APQR 2
12.
D N A
- 30°
C
N 45° i
E 7 B F
In the diagram above AC = AB and DA| EF . Z/DAC =30 and
Z/CBE=45". CD 1L DA and DA 1 AF.
a) Find the size of ZACB, giving reasons. 3
b) Hence find the size of ZCAB, giving reasons 2

c) Prove that AACD = AABF




Marks
13.

P Q
PQRS is a parallelogram and PT is a straight line through S. TQ L PQ
a) Prove AURQ ||| AQPT

3
b) If QR =5, UR=4, ST= 8, find TP and SU and hence TQ. 5
1 1
14. Prove that — =2coté 2
cosecd—cotd cosecd+cotd
15.
N
— 30 15°
K L M
a) If LM =1 metre, explain why LN also equals 1 metre. 2

b) Use the sketch to deduce that tan15" =2 -3 3
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